# A characterization of adequate semigroups by forbidden subsemigroups

# João Araújo

Universidade Aberta, Rua da Escola Politécnica 147, 1269-001 Lisboa, Portugal and Centro de Álgebra, Universidade de Lisboa, 1649-003 Lisboa, Portugal (mjoao@ptmat.fc.ul.pt)

### Michael Kinyon

Department of Mathematics, University of Denver, 2360 South Gaylord Street, Denver, CO 80208, USA (mkinyon@du.edu)

## António Malheiro

Centro de Álgebra da Universidade de Lisboa, 1649-003 Lisboa, Portugal and Departamento de Matemática, Faculdade de Ciências e Tecnologia, Universidade Nova de Lisboa, 2829-516 Caparica, Portugal (malheiro@cii.fc.ul.pt)

(MS received 9 December 2011; accepted 3 October 2012)

A semigroup is *amiable* if there is exactly one idempotent in each  $\mathcal{R}^*$ -class and in each  $\mathcal{L}^*$ -class. A semigroup is *adequate* if it is amiable and if its idempotents commute. We characterize adequate semigroups by showing that they are precisely those amiable semigroups that do not contain isomorphic copies of two particular non-adequate semigroups as subsemigroups.

# 1. Introduction

For a semigroup S, the usual Green's equivalence relations  $\mathcal{L}$  and  $\mathcal{R}$  are defined by  $x \mathcal{L} y$  if and only if  $S^1 x = S^1 y$  and by  $x \mathcal{R} y$  if and only if  $xS^1 = yS^1$  for all  $x, y \in S$ , where  $S^1 = S$  if S is a monoid and  $S^1 = S \cup \{1\}$  otherwise, that is, S with an identity element 1 adjoined. Naturally linked to these relations are the classes of semigroups defined as follows.

- A semigroup is *regular* if there is an idempotent in each *L*-class and in each *R*-class.
- A semigroup is *inverse* if there is a unique idempotent in each  $\mathcal{L}$ -class and in each  $\mathcal{R}$ -class. A regular semigroup is inverse if and only if its idempotents commute [5, theorem 5.1.1].

© 2013 The Royal Society of Edinburgh

1115

# 1116 J. Araújo, M. Kinyon and A. Malheiro

The starred Green's relation  $\mathcal{L}^*$  is defined by  $x \mathcal{L}^* y$  if and only if  $x \mathcal{L} y$  in some semigroup containing S as a subsemigroup, and a similar definition gives  $\mathcal{R}^*$ . These are characterized, respectively, by  $x \mathcal{L}^* y$  if and only if, for all  $a, b \in S^1$ ,  $xa = xb \Leftrightarrow ya = yb$  and by  $x \mathcal{R}^* y$  if and only if, for all  $a, b \in S^1$ ,  $ax = bx \Leftrightarrow ay = by$ . Naturally linked to these relations are the classes of semigroups defined as follows.

- A semigroup is *abundant* if there is an idempotent in each *L*\*-class and in each *R*\*-class [3].
- A semigroup is *adequate* if it is abundant and its idempotents commute [2].
- A semigroup is *amiable* if there is a unique idempotent in each L\*-class and in each R\*-class [1]. Every adequate semigroup is amiable [2].

Since  $\mathcal{L} \subseteq \mathcal{L}^*$  and  $\mathcal{R} \subseteq \mathcal{R}^*$ , abundant semigroups generalize regular semigroups, and amiable (and hence adequate) semigroups generalize inverse semigroups. Of course, the classes of regular and inverse semigroups are among the most intensively studied classes of semigroups. Many of the fundamental results in these classes have been generalized to abundant and adequate semigroups, for which there is also an extensive literature.

It has been known since Fountain's first paper [2] that the class of adequate semigroups is properly contained in the class of amiable semigroups, because he constructed an infinite amiable, but not adequate, semigroup. Kambites later asked whether these two classes coincide on finite semigroups, and Araújo and Kinyon found that they do not [1]. The aim of this paper is to characterize adequate semigroups inside the class of amiable semigroups. We therefore hope that our main result will provide a useful tool for generalizing the extensive literature on inverse and adequate semigroups to the setting of amiable semigroups.

We say that a semigroup S avoids a semigroup T if S does not contain an isomorphic copy of T as a subsemigroup. The main result of this paper is the following.

MAIN THEOREM. Let S be an amiable semigroup. S is then adequate if and only if S avoids both of the semigroups defined by the presentations

$$\mathcal{F} = \langle a, b \mid a^2 = a, \ b^2 = b \rangle \tag{F}$$

and

$$\mathcal{M} = \langle a, b \mid a^2 = a, \ b^2 = b, \ aba = bab = ab \rangle. \tag{M}$$

The semigroup F defined by the presentation  $\mathcal{F}$  is Fountain's original example of an amiable semigroup that is not adequate (see [2, example 1.4]). Except for changes in notation, the example is given as follows. Let

$$A = \begin{pmatrix} 1 & 0 \\ 1 & 0 \end{pmatrix}, \qquad B = \begin{pmatrix} 1 & 1 \\ 0 & 0 \end{pmatrix}, \qquad C = \begin{pmatrix} 1 & 1 \\ 1 & 1 \end{pmatrix}, \qquad D = \begin{pmatrix} 2 & 0 \\ 0 & 0 \end{pmatrix}.$$

Set  $F_0 = \{2^n A, 2^n B, 2^n C, 2^n D \mid n \ge 0\}$ .  $F_0$  is then a semigroup under the usual matrix multiplication. It is easy to see that A and B are the only idempotents of  $F_0$ . The  $\mathcal{L}^*$ -classes are  $\{2^n A, 2^n D \mid n \ge 0\}$ ,  $\{2^n B, 2^n C \mid n \ge 0\}$ , and the  $\mathcal{R}^*$ -classes

Table 1. The smallest amiable semigroup that is not adequate.

M	a	b	c	d
a	a	c	c	c
b	d	b	c	d
c	c	c	c	c
d	d	c	c	c

are  $\{2^nA, 2^nC \mid n \ge 0\}$ ,  $\{2^nB, 2^nD \mid n \ge 0\}$ . Hence,  $F_0$  is amiable but it is not adequate, since  $AB = C \neq D = BA$ .

Note that, for  $n \ge 0$ ,  $2^n C = C^{n+1} = (AB)^{n+1}$ ,  $2^n D = D^{n+1} = (BA)^{n+1}$ ,  $2^n A = C^n A = (AB)^n A$  and  $2^n B = D^n B = (BA)^n B$ . Therefore,  $F_0 = \{(AB)^n A, (BA)^n B, (AB)^m, (BA)^m \mid n \ge 0, m \ge 1\}$  with no two of the listed elements coinciding. On the other hand,  $F = \{(ab)^n a, (ba)^n b, (ab)^m, (ba)^m \mid n \ge 0, m \ge 1\}$  with no two of the listed elements coinciding. Therefore, Fountain's  $F_0$  has  $\mathcal{F}$  as a presentation.

The semigroup M defined by the presentation  $\mathcal{M}$  is the first known *finite* example of an amiable semigroup that is not adequate [1]. Setting c = ab and d = ba, it is easy to see from the relations that  $M = \{a, b, c, d\}$  with the multiplication table shown in table 1.

The  $\mathcal{L}^*$ -classes are  $\{a, d\}$ ,  $\{b\}$  and  $\{c\}$ . The  $\mathcal{R}^*$ -classes are  $\{b, d\}$ ,  $\{a\}$  and  $\{c\}$ . Thus, M is amiable but it is evidently not adequate, since  $ab = c \neq d = ba$ .

In fact, the original motivation for this paper was a conjecture, presented in [1], that every finite amiable semigroup that is not adequate contains an isomorphic copy of M. The conjecture was based on a computer search, in which it was found that the conjecture holds up to order 37. The confirmation of this conjecture is a trivial corollary of our main theorem.

The preceding discussion has shown that the avoidance condition of the main theorem is certainly necessary, since  $(\mathcal{F})$  and (M) contain non-commuting idempotents and, hence, cannot be subsemigroups of adequate semigroups. The next section is devoted to the proof of the sufficiency. In the last section, we pose some problems.

#### 2. The proof

In what follows we make frequent use of the fact that, for idempotent elements (more generally, for regular elements) s, t of an abundant semigroup,  $s \mathcal{L}^* t$  if and only if  $s \mathcal{L} t$  and, similarly,  $s \mathcal{R}^* t$  if and only if  $s \mathcal{R} t$  [3].

For each x in an amiable semigroup, we denote by  $x_1$  the unique idempotent in the  $\mathcal{L}^*$ -class of x, and we denote by  $x_r$  the unique idempotent in the  $\mathcal{R}^*$ -class of x. (In the literature, these are sometimes denoted by  $x^*$  and  $x^+$ , respectively.) We can view amiable semigroups as algebras of type  $\langle 2, 1, 1 \rangle$  where the binary operation is the semigroup multiplication and the unary operations are  $x \mapsto x_1$  and  $x \mapsto x_r$ . Thus, we may think of amiable semigroups as forming a quasi-variety axiomatized by, for instance, associativity together with the eight quasi-identities

$$egin{aligned} x_{\mathrm{l}} x_{\mathrm{l}} &= x_{\mathrm{l}}, & x_{\mathrm{r}} x_{\mathrm{r}} &= x_{\mathrm{r}}, \\ x x_{\mathrm{l}} &= x, & x_{\mathrm{r}} x &= x, \end{aligned}$$

J. Araújo, M. Kinyon and A. Malheiro

$$\begin{aligned} xy &= xz \quad \Rightarrow \quad x_1y = x_1z, \qquad yx = zx \quad \Rightarrow \quad yx_r = zx_r, \\ (xx &= x \land yy = y \land x \ \mathcal{L} \ y) \quad \Rightarrow \quad x = y, \\ (xx &= x \land yy = y \land x \ \mathcal{R} \ y) \quad \Rightarrow \quad x = y. \end{aligned}$$

Here,  $x \mathcal{L} y$  abbreviates the conjunction  $(xy = x \land yx = y)$  and, similarly,  $x \mathcal{R} y$  abbreviates  $(xy = y \land yx = x)$ . We will use these quasi-identities in what follows without explicit reference.

LEMMA 2.1. For all x, y in an amiable semigroup,

$$(x_1 y)_1 = (x y)_1. (2.1)$$

*Proof.* It can be easily seen from the definition that the relation  $\mathcal{L}^*$  is a right congruence. Since  $x \mathcal{L}^* x_1$ , we have  $xy \mathcal{L}^* x_1 y$  and so  $(x_1y)_1 = (xy)_1$ .

LEMMA 2.2. Let S be an amiable semigroup and let  $a, b \in S$  be non-commuting idempotents. The following are equivalent: (i) aba = ab, (ii) bab = ab, (iii) abab = ab. When these conditions hold, the subsemigroup of S generated by a and b is isomorphic to M.

*Proof.* The equivalence of (i) and (ii) is shown by [1, lemma 2]. If (i) holds, then, clearly, abab = abb = ab, and so (iii) holds. Now assume that (iii) holds. Then,  $aba \cdot aba = ababa = aba$ , and so aba is an idempotent. We have that  $aba \cdot ab = ab$  and  $ab \cdot aba = aba$ , and so  $aba \mathcal{R} ab$ . Since S is amiable, aba = ab, that is, (i) holds. The remaining assertion is shown in [1, theorem 3].

We can interpret lemma 2.2 in terms of quasi-identities.

LEMMA 2.3. The class of all amiable semigroups that avoid M is a subquasi-variety of the quasi-variety of all amiable semigroups. It is characterized by the defining quasi-identities of amiable semigroups together with any one of

$$(xx = x \land yy = y \land xyx = xy) \quad \Rightarrow \quad xy = yx, \tag{2.2}$$

$$(xx = x \land yy = y \land xyx = yx) \quad \Rightarrow \quad xy = yx, \tag{2.3}$$

$$(xx = x \land yy = y \land xyxy = xy) \quad \Rightarrow \quad xy = yx. \tag{2.4}$$

*Proof.* If a semigroup S contains a copy of M, then (2.2) is not satisfied, since aba = ca = c = ab. Conversely, if (2.2) is not satisfied in S, then there exist idempotents a and b with aba = ab. By lemma 2.2, a and b generate a copy of M. The proofs for the other two cases are similar.

LEMMA 2.4. Let S be an amiable semigroup that avoids M and let  $c \in S$  be an idempotent. Then, for all  $x \in S$ ,

$$x(xc)_{l} = xc, \tag{2.5}$$

$$x_1(xc)_1 = x_1c. (2.6)$$

*Proof.* Since  $(xc)_{\ell}$  is the unique idempotent in the  $\mathcal{L}^*$ -class of xc and xc = (xc)c, we have from the definition of  $\mathcal{L}^*$  that  $(xc)_1 = (xc)_1c$ , and so  $c(xc)_1c = c(xc)_1$ . By (2.2),  $c(xc)_1 = (xc)_1c = (xc)_1$ . Thus,  $xc = xc(xc)_1 = x(xc)_1$ , which establishes (2.5), and then (2.6) follows from (2.5).

1118

LEMMA 2.5. Let S be an amiable semigroup that avoids M, let  $c, x \in S$  and assume that c is an idempotent. If cx = xc, then  $cx_1 = x_1c$ .

*Proof.* Obviously, xc = cx implies that  $xcx_{\ell} = cxx_{\ell}$ . Hence, since  $xx_{\ell} = x$  we get that  $xcx_{\ell} = cx$ , and therefore  $xc = xcx_{\ell}$ . By the definition of  $\mathcal{L}^*$  and since  $x \mathcal{L}^* x_{\ell}$ , we get that  $x_{\ell}c = x_{\ell}cx_{\ell}$ , with c and  $x_{\ell}$  both idempotents. By (2.2), we get that  $cx_1 = x_1c$ , as required.

LEMMA 2.6. Let S be an amiable semigroup that avoids M, let  $a, b \in S$  be idempotents and suppose that there exist positive integers m, n, with m > n such that  $(ab)^m = (ab)^n$ . Then,  $(ab)^{n+1} = (ab)^n$ .

*Proof.* Consider the monogenic subsemigroup of S generated by ab. Since  $(ab)^m = (ab)^n$  it is finite. Hence, it has an idempotent element  $(ab)^k$ , for some  $k \in \mathbb{N}$ , with  $k \leq m$ .

Now,  $b(ab)^k b = b(ab)^k$ , which implies by (2.2) that  $b(ab)^k = (ab)^k b = (ab)^k$ . Hence,  $(ab)^{k+1} = a(ab)^k = (ab)^k$ .

Since  $(ab)^k = (ab)^{k+j}$ , for all  $j \in \mathbb{N}$ ,  $k \leq m$  and  $(ab)^m = (ab)^n$ , the result follows.

LEMMA 2.7. Let S be an amiable semigroup that avoids M, let  $a, b \in S$  be idempotents and let  $x \in S$  be such that ax = x = xb, xab = abx = xabx and xab is an idempotent. Then,

$$[xa]_1 \cdot b = b \cdot [xa]_1, \tag{2.7}$$

$$xab = a \cdot x_1. \tag{2.8}$$

*Proof.* We begin by showing that xab commutes with a, b and x, and, therefore, it commutes with xa. From the hypothesis it is easy to see that  $a \cdot xab \cdot a = xab \cdot a$  and  $b \cdot xab \cdot b = b \cdot xab$ , and so by (2.2) and (2.3) we conclude that xab commutes with a and b. It is immediate from the hypothesis that xab commutes with x.

The first equation can be expressed as follows. Since xab is an idempotent, that is,  $xa \cdot b = xa \cdot bxab$ , we have that

$$[xa]_1 \cdot b = [xa]_1 \cdot bxab = [xa]_1 \cdot xabb = [xa]_1 \cdot xab.$$

As shown, *xab* commutes with *xa*. By lemma 2.5, *xab* also commutes with  $[xa]_1$ . Thus,

$$[xa]_1 \cdot b = xab \cdot [xa]_1 = ab \cdot x[xa]_1 \stackrel{(2.5)}{=} ab \cdot xa = xaba = axab = xab.$$

Hence,  $b \cdot [xa]_1 \cdot b = bxab = xabb = xab = [xa]_1 \cdot b$ . Applying (2.3), we have that

$$[xa]_1 \cdot b = b \cdot [xa]_1,$$

as required.

Next, we compute that

$$xab \stackrel{(2.5)}{=} x[xa]_{1} \cdot b \stackrel{(2.7)}{=} xb \cdot [xa]_{1} = x[xa]_{1} \stackrel{(2.5)}{=} xa.$$

Hence,  $x \cdot xab = xab = x \cdot a$ , and so  $x_1 \cdot xab = x_1 \cdot a$ . Since xab commutes with x, it also commutes with  $x_1$  by lemma 2.5. Thus,

$$x_1 \cdot a = xabx_1 = ab \cdot xx_1 = ab \cdot x = xab.$$

Now,  $a \cdot x_1 \cdot a = axab = xab = x_1 \cdot a$ . By (2.3),  $a \cdot x_1 = x_1 \cdot a$ , from which we get the intended result.

LEMMA 2.8. Let S be an amiable semigroup that avoids M, let  $a, b \in S$  be idempotents and suppose that  $(ab)^{n+1} = (ab)^n$  for some integer n > 0. Then, ab = ba.

*Proof.* If n = 1, then the desired result follows from (2.4). If n > 1, we show that our hypothesis leads to the conclusion that  $(ab)^n = (ab)^{n-1}$ . Applying the same argument repetitively, we reduce to the case n = 1 and thus prove our lemma.

Assume that n > 1 and let  $x = (ab)^{n-1}$ . It is easy to verify that a, b and x satisfy the conditions of the previous lemma. Now, if n = 2, then (2.8) can be written as  $(ab)^2 = a \cdot [ab]_1 = ab$  by (2.5). If n > 2, then we multiply both sides of (2.8) by  $(ab)^{n-2}$  on the left. Since  $(ab)^{n-2}(ab)^n = (ab)^n$ , we get that

$$(ab)^n = (ab)^{n-2}a \cdot [(ab)^{n-2}a \cdot b]_l = (ab)^{n-2}a \cdot b = (ab)^{n-1},$$

using (2.5). Therefore, we have shown that the assumption that  $(ab)^{n+1} = (ab)^n$  implies that  $(ab)^n = (ab)^{n-1}$ , as required.

COROLLARY 2.9. Let S be an amiable semigroup that avoids M, let  $a, b \in S$  be idempotents and suppose that there exist positive integers m, n, with m > n such that  $(ab)^m = (ab)^n$ . Then, ab = ba.

*Proof.* This follows from lemmas 2.6 and 2.8.

Let S now denote an amiable semigroup that is not adequate and that avoids 
$$M$$
.  
We fix non-commuting idempotents  $a, b \in S$  and let  $H$  denote the subsemigroup  
generated by  $a$  and  $b$ . The elements of  $H$  are

$$H = \{ (ab)^m, (ba)^m, (ab)^n a, (ba)^n b \mid m \ge 1, \ n \ge 0 \}.$$
 (2.9)

(Note that since S is not necessarily a monoid, we interpret  $(ab)^0 a$  to be equal to a and, similarly,  $(ba)^0 b = b$ .) Our goal is to show that H is an isomorphic copy of F. Comparing the elements of H with those of F, we see that it is sufficient to show that the elements listed in (2.9) are all distinct.

LEMMA 2.10. The elements of H listed in (2.9) are all distinct.

*Proof.* We show that each possible case of two elements of H coinciding will lead to a contradiction. Because a and b can be interchanged, half of the cases follow from the rest by symmetry. We sometimes use this observation implicitly in the arguments that follow when we refer to already proven cases.

CASE 1. If  $(ab)^m = (ab)^n$  for some m > n > 0, then, by corollary 2.9, ab = ba, which is a contradiction.

Amiable semigroups

CASE 2. If  $(ab)^m = (ab)^n a$  for some m > 0,  $n \ge 0$ , then  $(ba)^{m+1} = b(ab)^m a = b(ab)^n a \cdot a = (ba)^{n+1}$ , which, by case 1, leads to a contradiction if  $m \ne n$ . We also have that  $(ab)^{n+1} = (ab)^n a \cdot b = (ab)^m b = (ab)^m$ , which yields a contradiction by case 1 if  $m \ne n + 1$ .

CASE 3. If  $(ab)^m = (ba)^n$  for some m, n > 0, then  $(ab)^m = a(ab)^m = a(ba)^n = (ab)^n a$ , which contradicts case 2.

CASE 4. If  $(ab)^m = (ba)^n b$  for some m > 0,  $n \ge 0$ , we get a contradiction in the same way as for case 2.

CASE 5. If  $(ab)^m a = (ba)^n b$  for some  $m, n \ge 0$ , then  $(ab)^{m+1} = (ab)^m a \cdot b = (ba)^n b \cdot b = (ba)^n b$ , which contradicts case 4.

CASE 6. If  $(ab)^m a = (ab)^n a$  for some  $m > n \ge 0$ , then  $(ab)^{m+1} = (ab)^{n+1}$ , which contradicts case 1.

By the symmetry in a and b, this exhausts all possible cases of elements of H coinciding. The proof is complete.

By lemma 2.10, the semigroup F defined by the presentation  $\langle a, b \mid a^2 = a, b^2 = b \rangle$  is the subsemigroup H generated by a and b. This completes the proof of the main theorem.

#### 3. Open problems

A semigroup is *left* abundant if each  $\mathcal{R}^*$ -class contains an idempotent, *left* amiable if each  $\mathcal{R}^*$ -class contains exactly one idempotent and *left* adequate if it is left abundant and the idempotents commute. There are more left-amiable semigroups than just F and M that are not left adequate. For instance, every right regular band (that is, every idempotent semigroup in which  $\mathcal{L}$  is the equality relation) that is not a semi-lattice is left amiable but not left adequate.

PROBLEM 3.1. Extend the main theorem to characterize left-amiable semigroups that are not left adequate.

In [1] we suggested the problem of characterizing the free objects in the quasivariety of amiable semigroups (cf. [6, 7]). Perhaps the following would be more tractable.

PROBLEM 3.2. Determine the free objects in the quasi-variety of amiable semigroups that avoid M.

By our main theorem, if there is a non-adequate free object in this quasi-variety, then it will contain a copy of F.

PROBLEM 3.3. Determine if the class of amiable semigroups that avoid F forms a quasi-variety, and, if so, find explicit characterizing identities.

The ultimate goal regarding amiable semigroups is the following.

PROBLEM 3.4. Determine to what extent the structure theory of adequate semigroups can be extended to amiable semigroups. Finally, the 'tilde' Green relation  $\tilde{\mathcal{L}}$  on a semigroup S is defined by  $a \tilde{\mathcal{L}} b$  if and only if, for each idempotent  $e \in S$ , ae = a if and only if be = b. The relation  $\tilde{\mathcal{R}}$ is defined dually. We have that  $\mathcal{L} \subseteq \mathcal{L}^* \subseteq \tilde{\mathcal{L}}$  and similarly for the dual relations. A semigroup is *semi-abundant* if there is an idempotent in each  $\tilde{\mathcal{L}}$ -class and in each  $\tilde{\mathcal{R}}$ -class, and a semi-abundant semigroup is *semi-adequate* if its idempotents commute [4]. A semigroup is *semi-amiable* if there is a unique idempotent in each  $\tilde{\mathcal{L}}$ -class and in each  $\tilde{\mathcal{R}}$ -class. Every semi-adequate semigroup is *semi-amiable*. There are one-sided versions of all of these notions as well. It is natural to suggest the following.

PROBLEM 3.5. Extend the main theorem to characterize (left) semi-adequate semigroups among (left) semi-amiable semigroups.

### Acknowledgements

The authors acknowledge the assistance of the automated deduction tool PROVER9 developed by McCune [8].

J.A. and A.M. were partly supported by the FCT through Strategic Project of Centro de Álgebra da Universidade de Lisboa (PEst-OE/MAT/UI1043/2011). J.A. was also partly supported by the project Computations in Groups and Semigroups (PTDC/MAT/101993/2008).

#### References

- 1 J. Araújo and M. Kinyon. On a problem of M. Kambites regarding abundant semi-groups. *Commun. Alg.* **40** (2012), 4439–4447.
- 2 J. Fountain. Adequate semi-groups. Proc. Edinb. Math. Soc. 22 (1979), 113–125.
- 3 J. Fountain. Abundant semi-groups. Proc. Lond. Math. Soc. 44 (1982), 103–129.
- 4 J. B. Fountain, G. M. S. Gomes and V. A. R. Gould. A Munn-type representation for a class of E-semi-adequate semi-groups. J. Alg. **218** (1999), 693–714.
- 5 J. M. Howie. *Fundamentals of semi-group theory*, London Mathematical Society Monographs, vol. 12 (Oxford: Clarendon, 1995).
- 6 M. Kambites. Retracts of trees and free left-adequate semi-groups. Proc. Edinb. Math. Soc. 54 (2011), 731–747.
- 7 M. Kambites. Free adequate semi-groups. J. Austral. Math. Soc. 91 (2011), 365–390.
- 8 W. McCune. PROVER9 and MACE4, version 2009–11A (available at www.cs.unm.edu/ ~mccune/prover9/) (2009).

(Issued 6 December 2013)